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Exam. Code: [0]0] 0] 2

B.A./B.Sc. (General) 2" Semester
1046

PSYCHOLOGY (In all Mediums)
Paper : General Psychology—II

Time Allowed : Three Hours] [Maximum Marks : 70
Note :— (1) Attempt five questions in all.

(2) Question No. I is compulsory.
(3) Attempt one question from each Unit.
(4) All questions carry equal marks.

(5) The use of non-programmable calculators and Statistical
Tables is allowed.
Answer briefly any seven of the following :
(i) Oedipus conflict :
(i) Traits and type approach
(i) Correlation
(iv) Measurement of variability
(v) Define Mean
(vi) Histogram
(vi) Spearman’s G factor
(vii)) Primary mental abilities
(ix) Mental age
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II.

I1I.

(x) Non verbal test of intelligence
(xi) Fluid Intelligence

(xi)) Sensory Motor stagé of Development. 7x2=14
UNIT—I

What do you mean by personality ? Discuss Roger’s humanistic

theory of personality. 14

Describe and critically examine the projective techiques as meaures
of personality. 14

UNIT-1I
Calculate the median of the following :
qa -
65-69
60-64
55-59
50-54
45-49
40-44
35-39
30-34
25-29
20-24

[e—,
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—

14

Calculate the correlation of the following data with help of Person
Product Movement method :

A= 13,6, 8,7,9,9,10,5, 8,5

B= 9,7,10,5,8,6, 7,4,7,2 14
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UNIT-1II
VL. Critically examine the Erickson’s theory of development. 14

VIL. Discuss heredity and environmental influences on development.

14
UNIT-1V
VIII. Elaborate the concept of intelli gence. Discuss Spearman two factor
theory of intelligence. 4,10
IX. Write short notes on :
(1) Thurstone’s theory of intellgence.
(2) Individual and Group tests. 7,7

(fe=r wmemm)
Note :— (1) Attempt five questions in all.

(2) Question No. I is compulsory.
(3) Attempt one question from each Unit.
(4) All questions carry equal marks.

(5) The use of non-programmable calculators and Statlstlcal
Tables is allowed.

eI
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(ivy A9 # gRadTeiear
(v) #rem # gRaiE &3
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(vi) 3Tt
(vi)) RFRAT &1 G RSP
(viil) STafer ARG geEarg

(x) WS g
® & T RS Tl
) T I .
(xi) M @ Fad =MeE  ER| 7x2=14
I 39 Sf¥ded & 91 Y & ? AR B Afdicd & ArEaad
Rrgma == F| 14
[l <ff¥dcd & A & dR T YW aFAe w1 o R
AAEACAS  qEET FA | 14
gfe-II
v, Fyrifea & weg &1 A F -
€l b
65-69 1
60-64 3
55-59 4
50-54 7
45-49 9
40-44 11
35-39 8
30-34 4
25-29 2
20-24 1 14
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| gfe—1I1
VL wReed & Rewm REmd ) adedcos ader w1 14

VIL fem ™ fBRgd @R miEake & geEl |)ogEl )

14
gAe-1vV
VIIL gf # s@aron @ o 731 Redd & gfe 5 are
Rerd W ==t &1 4,10
K @ A o -
(1) &H &1 gfg e :
() e R wgE qdqe | T
(Jaret nigee)

Note :— (1) Attempt five questions inall.
(2) Question No. I is compulsory.
(3) Attempt one question from each Unit.
(4) All questions carry equal marks.
(5) The use of non-programmable calculators and Statistical
Tables is allowed.
I for A3 ymst @ Aftuz €39 el
() S3hm AwIr
@ & 03 fami ude
@) AfoRET
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(v) Wy @ ufgedssHssT
W) for § ufssfis &9
) »rfes-fdzg

(i) mieRs & G I9d

(vill) HESMrT WSS HarsTe

(ix) M Py
x) gt = opifua udhue
(x) 395 gut
xii) feam & ATl THA MHE| 7x2=14
gfee—I
. 3 fenEf3se &t e e 7 7 IA9 © fonaf33e @ st
fros Quad T9ur | 14
. fonf3se @ vy o Yyt Salat € 2986 M3 MBEa3HA
it &3 : 14
gfse-11
IV. J feftmi & witar & JrEsT &9 -
Cl s i
65-69 1
60-64 3
55-59 4
50-54 4
45-49 9
40-44 11
35-39 8
30-34 4
25-29 2
20-24 1 14
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A= 13,6, 8,7,909, 10, 5, 8, 5
B= 9,7,10,5,8,6, 7,4,7,2 14
gfse-111
VL Hfgars @ fearm foiz & widgesHa mitfimr a31 14
VII.WW@W@W@W@_WW&%I
14
gfse-1v
VIIL gt & arger & fenrfimor a31 mineis @ gdt € €-a9alt
fAuz Qud TITT 3| 4,10
IX. Aftus 32 fod .
(1) =Imes = gt fAuis
(2) fenSaz »3 AHT UdHE| 7,7
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